REGISTRATION NUMBER :
EXAM DATE : 22-August-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 201 - Select the related word from the given alternatives.

Screw : Screw driver :: Nail : ?
T80 970 faepedl & & Heiftrd eree 1 giav|

S dasg A ?
Options:

1) Nail driver

Frel HF

2) Polish

giferer

3) Steel

et

4) Hammer

gaitst

Correct Answer: Hammer
gatsr

Candidate Answer: Hammer
gaitst

QID : 202 - Select the related letters from the given alternatives.
ACE : YAC:: BDF:?

U 71T fashed’ & & FEfAIT 3R 1 giaw

ACE : YAC:: BDF:?

Options:

1) PRS

2) XYA

3) ZBD

4) FDB
Correct Answer: ZBD
Candidate Answer: ZBD

QID : 203 - Select the related number from the given alternatives.

10:1000::2:7?

fw 1w fawredt # & wefta der & g
10:1000::2:?

Options:

1)4

2)0.5

3)20

4)8
Correct Answer: 8
Candidate Answer: 8
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QID : 204 - Select the odd word from the given alternatives.

u 1w fasmed & & fawe ereg &1 gAv|
Options:

1) Batsman

Feolarel

2) Umpire

3R

3) Bowler

EICCic)
4) Wicket-keeper
e FaT

Correct Answer: Umpire
JURR

Candidate Answer: Umpire
AR

QID : 205 - Select the odd letters from the given alternatives.

faw 1w et & & fawer et &1 gfw)
Options:

1) CEG

2) IKM

3) ORU

4) VXZ
Correct Answer: ORU
Candidate Answer: ORU

QID : 206 - Select the odd number from the given alternatives.

few a1 faehedt & & fawer e i g
Options:

1) 42

2)84

3)91

4)71

Correct Answer: 71

Candidate Answer: 71

QID : 207 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.

nature, ensure, tense, spent, spurn, ?

Teh 37eTeha 18T a1 B, TSere Ueh 9ree; ofed 81 74U 910 fashedl # & a8 WEl fashed YT ST 37egshat 3l O e |

nature, ensure, tense, spent, spurn, ?
Options:

1) pushup

2) thrash

3) upturn

4) asset
Correct Answer: upturn
Candidate Answer: [ NOT ANSWERED ]

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
R,MILFD,?
Teh 37eTehe 8T a1 B, TSee Ueh U ofed &1 U a1v faemedl & & ag HEY fahed YT St 1efshet 1 U |

R,MILFD,?
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Options:
1)B

2)C
3)A

4)E
Correct Answer: C
Candidate Answer: C

QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
-0.5, -0.35, -0.2, -0.05, ?, 0.25
T 31efha T ara B, Fd Ueh Hedt ofed ¥ T arw fashedt A & a7 @ sk iAw S g S qu |

-0.5, -0.35, -0.2, -0.05, ?, 0.25
Options:
1)-0.1

2)0.1
3) 0.15

4) -0.15
Correct Answer: 0.1
Candidate Answer: 0.1

QID : 210 - Aayush's birthday is on Monday 22nd May. On what day of the week will be Neerav's Birthday in the same year if Neerav was born on 30t October?

Y T SFeAfee HHAR 22 7S 1 §| AT 7RG HT STod 30 rergeR Pl g1 AT A 3 a¥ ARG &7 SeaAfesT Foale # e feret gam?
Options:

1) Monday

FHIR

2) Wednesday

FYAR

3) Friday

SETIR

4) Thursday

EICSEIRS

-]
Correct Answer: Monday

FHIR
Candidate Answer: [ NOT ANSWERED ]

QID : 211 - The weights of 4 boxes are 90, 30, 20 and 50 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

AR FFET 1 FoteT 90, 30, 20 3iR 50 heitast &1 el & & sl o ford off THoTal @ Foof Totel, Thellale 3 et AT LT 81 Tehell & 3R Teh TSIl A Teh ST

TS &Y IR AT H AR ST HebeT 87

Options:
1) 190
2) 170
3) 100
4) 150

Correct Answer: 150
Candidate Answer: [ NOT ANSWERED ]

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
INFERNAL
TR faehedl 7 & dg Ueg, YiAT S TGT 1T 2ree; oh R T TATT hieh T61 SF=A1dT ST Hehell:

INFERNAL
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Options:
1) ALIEN

2) FINAL
3) LEARN

4) URINE
Correct Answer: URINE
Candidate Answer: URINE

QID : 213 - If FLOTSAM is coded as UOLGHZN, then how will PIN be coded as?

e FLOTSAM &I fad s & UOLGHZN for@r Sirar &, af PIN &1 38T g 3 &rar forar sireem?

Options:
1) KRM

2) GEH
3) OBI

4) DVW
Correct Answer: KRM
Candidate Answer: KRM

QID : 214 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?

234x9-12+4=7?
TR I3 ST #, '+' T AT X' §, - HT AdS '+' §, 'X' & AT '+' § 3R '+ F1 Adew ' §1 Heafafad uea &1 3cax #a1 82

234x9-12+4="?
Options:

1) 74

2) 48

3) 94

4) 82
Correct Answer: 74
Candidate Answer: 74

QID : 215 - If 23$35 = 13, 3$5 = 8 then what is the value of 4$13 = ?

7 23$35 = 13, 3$5 = 8 Al 4$13 = ? & ATA AT HIToI |
Options:

1)8

2) 14

3)6

4) 49

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]
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QID : 216 -

Select the missing number from
the given responses

few o1w faement 1 & e
H&ar gfav
16 | 17 | 28

21 |23 | 27
? 391|756

Options:
1) 377

2) 351
3) 336

4) 306
Correct Answer: 336
Candidate Answer: 336

QID : 217 - A migrating bird flies 40 km North, then turns East and flies 50 km, then turns North and flies 110 km, and turns to its left and flies 50 km. Where is it
now with reference to its starting position?

T Y &l 3ca’ Y 3T 40 .Y, T 35T §, R g 1 3R 73 S € 31k 50 oA T 33T 8, TR ot T 3R 73 S § 3R 110 R e 33 8, 3R sroeh
T$ 3R F3 § 31K 50 .70, o 33T &1 g5 319=i YR el & 319 #ei 87
Options:

1) 150 km South

150 for. 5. gfeyor

2) 150 km North

150 .5, 3ccR

3) 70 km North

70 fh. AL 3caR

4) 70 km South

70 fh. 7. gfgor

Correct Answer: 150 km North
150 f.#. ek

Candidate Answer: 150 km North
150 for. T, 3ea)
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QID : 218 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be

at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All clouds are fog.
Statement 2 : All fog are white.

Conclusion I : Some white are clouds.
Conclusion II : Some fog are clouds.

99T 7 Y T o 7 & Torgeh 31 & sy 1 31K 11 f¥erter a1y &1 31T9eh! AT § 76 el el G & 91 a8 AT A a2al & @ieeT gaid g gl 3mdem vt

FAT § F1 T 7T fsemst 7 F Fla-ay/FHla-a ARad §9 § ST gaRT TEF fARTe S Fohell §/3d &, I F1S T

FYT 1: TN SET PR
FYT 2: T3 FEY Fqhe T

fosd I: oo athe aree &1
fass¥ II: F FIeX s1ee &
Options:

1) Only conclusion I follows
Facl ey 1 T &

2) Only conclusion II follows
Fadl forsey 11 TET &

3) Both I and II follow

AT foseny 131X 11 T &

4) Neither I nor II follows
T A forseny [ @ § a1 &) forseRy 11

Correct Answer: Both I and II follow
gl faseny 1 3R 11 T &

Candidate Answer: Both I and II follow

et Ry IR I T &

QID: 219 -

Options:
1)
5 L

Oly

) )
¥ [
4) %
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Correct Answer:

L e,
O %

Candidate Answer:

(@)
o B

QID : 220 -

In the following figure, square represents Priests, triangle represents
singers, circle represents Therapists and rectangle represents Indians.
Which set of letters represents Indians who are not priests?

frafaRad amefa , a’ffqgﬂﬂﬁlaﬂmﬁi? s el Bl giar e,

g Rfhws! @i gaiar ernuauﬂ?ﬂa’raa‘mﬁm%m&ﬁraﬁ
B 1 GHE YRl &1 g2fal § &t Rt

; H

I/ 6

N

\
Pt

Options:
1)EF
2)IG
3)EAF
4) G,EA
Correct Answer: E,AF
Candidate Answer: E,AF
QID: 221 -
Which answer figure will complete

the pattern in the question figure?
frfafad & @ Hia-dr Scax Impfa woaT
i & FTawT P I F?

\

Y

P
"
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Options:
1)

2)

3)

7

4)

Correct Answer:
Candidate Answer:

QID : 222 -

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

& g Ieak IFfaAr H & 3W gl F gAv
fSrest weat ampfa ARa &

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID : 223 -
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Options:
1)

2)

74 N

& A

3)

4)

i

4 P
V4

Correct Answer:

N

> 4
A

Candidate Answer:

N

> d
JaN

QID: 224 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

IfE ve gdor T MN Y@ 9T T@r ST Jr & a9
3cR At # ¥ FIF-H1 HHd oA IHT
&1 Hel ufafesa gref?
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Options:
1)

2)

3)

4)

Correct Answer:
Candidate Answer:

QID : 225 -

Options:
1) 34,33,55,59

2) 14,44,69,66
3) 56,76,20,21

4) 01,40,76,89
Correct Answer: 56,76,20,21
Candidate Answer: 56,76,20,21

QID: 226 - The balance is equal to capital flows from the rest of the world, minus capital flows to the rest of the world.

A, TR 7 giet aTel eI 9aTE, AV fIed & giet aTel YaTg & Herd & sNIeR il 5

Options:

1) Current Account
7o o

2) Savings Account
gad o @r

3) Capital Account
YelreTe e

4) Asset Account
Fuafea er@r

Correct Answer: Capital Account
GoTaTe eram

Candidate Answer: Capital Account
GotaTeT Srm
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QID : 227 - If a consumer's demand for a good moves in the same direction as the consumer's income, the consumer's demand for that good must be inversely

related to the price of the good is called

Tf el g & forw 3usiierar 1 |fer 38 Ren & § o faam 7 susiierar ¥ 3 & d 39 a&q & fow susiterdr Y AT 1 3801 HrAd & Qe {uda dee giar g, 39

T AT 51
Options:
1) Law of demand
AT T T
2) Law of supply
gfct @1 e
3) Law of substitution
gfaearas #1 A
4) Law of optimal choice
FSCAH goATd T g
Correct Answer: Law of demand
AT T T
Candidate Answer: Law of demand
AT T T

QID : 228 - "Taxes on agricultural income" is listed in the list given in the Seventh Schedule in the Constitution of India.

" 3T I I ATl Y R & FIUIST ¥ ATt gt H & ___ &l & gehag &1

Options:

1) Union
FET

2) State

I

3) Global
ICEC]

4) Concurrent

AT

Correct Answer: State
I

Candidate Answer: State
T

QID: 229 - approves constitutional amendments.

HaHTfeieh FRTEIAT T IR <l &l
Options:
1) Rajya Sabha
15T qAT
2) Ministry of Defence
T&TT HATET
3) Prime Minister's Office
JTeTHAT ST
4) Securities and Exchange Board of India
R SRy iR R %
Correct Answer: Rajya Sabha
15T §1
Candidate Answer: Rajya Sabha
EUSR R

QID : 230 - After the defeat at Plassey, Sirajuddaullah was assassinated and

CETET Y 59T o STe; RARTSIRNeT T AR feram aram 3R &Y s¥a1e S aram|
Options:

1) Mir Jafar

HR ST

2) Mir Qasim

HR Ffaa

3) Haider Ali

T 31l

4) Tipu Sultan

&g Gererrat

was made the nawab.
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Correct Answer: Mir Jafar
HIT ST
Candidate Answer: Mir Qasim

HR s

QID : 231 - Sher Shah Sur defeated which Mughal emperor?

RATE T A e g1 Ak ofore e

Options:

1) Humayun

el

2) Timur Lang

Ao T

3) Nadir Shah

e eme

4) Ahmed Shah Abdali
3EHG QMg eaTalr

Correct Answer: Humayun
Candidate Answer: Ahmed Shah Abdali
3EHT, ATE JHsaTell

QID : 232 - As the river approaches the sea, the speed of the flowing water decreases and the river begins to break up into a number of streams called

Tz e UGTA-Ugd Al bl YaTg AT 81 Sl § T AEY 3feteh ORI 3 faenforct gy el &, ey e Sfrelr 81

Options:

1) Plateau

Yo

2) Isthmus
TAASHEALT
3) Peninsula
EIECCIE]

4) Distributaries
faafer

Correct Answer: Distributaries

fafer
Candidate Answer: [ NOT ANSWERED ]

QID : 233 - The method of soil conservation in which rocks are piled up to slow down the flow of water which prevents gullies and further soil loss is called?

FeT TXET0T &1 39 faftr A a1 g § T ST & YaTE &Y A i & [T TETel T & ST STl § St oA1ferdl & 1T aat § 3T Fer a1fey &t et §2

Options:

1) Mulching

Hed Jallall

2) Contour barriers
AR WRHT

3) Rock dam

EECKI]

4) Terrace farming

afgar v

Correct Answer: Rock dam
EECKIC]

Candidate Answer: [ NOT ANSWERED ]

QID : 234 - In females, the uterus is

Afgemsit &, arsfery g g1
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Options:
1) Single
Th

2) Double
g

3) Triple
fevagem

4) Four
Giry
Correct Answer: Single
Th

Candidate Answer: Double

EYG

QID : 235 - Which of the following is not correct?

FATITET H & i AT TET oTeT &7

Options:

1) Members of Chlorophyceae are commonly called green algae

FARIESH & AEGEAT &I gT AaTel gl 81

2) Members of Phaeophyceae are commonly called red algae

HAEEH & FEEdT ATl AT Hed & |

3) Members of Rhodophyceae are commonly called red algae

USRS & TASTAT i olreT AaTeT FEd &

4) Members of Phaeophyceae are commonly called brown algae

BIRATHSET & HSEAT T 3T AaTel FEcd &

Correct Answer: Members of Phaeophyceae are commonly called red algae
FrATEEET & TSt Y ofTel a1l Fga g |

Candidate Answer: Members of Rhodophyceae are commonly called red algae

QGBI F TEET Y olrel Aarer Fea

QID : 236 - Adamsia (Sea anemone), Pennatula (Sea-pen) are examples of which Phylum?
TSATT (Fg W), Seeger (W ) R e 3 3aTevor 82
Options:

1) Coelenterata

Rerger

2) Aschelminthes

TEhatAedeT

3) Annelida

Wafersr

4) Arthropoda

3mrefaer

Correct Answer: Coelenterata

Releeer

Candidate Answer: [ NOT ANSWERED ]

QID : 237 - If the force applied on the object is in the direction of its motion, the speed of the object

I TRl S R ST I o A% Ay At AT e A g aAraeg At |
Options:

1) increases

e g

2) stops

6 ST §

3) decreases

HA B &

4) no effect

IS FHAT e

Correct Answer: increases
e g

Candidate Answer: increases

o &
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QID : 238 - The shape of the outer part of the ear is like a

F & aEd AT H IFRA SN eh
Options:

1) funnel

Ha

2) plate

e

3) drum

gH

4) disc

s

Correct Answer: funnel

Fq

Candidate Answer: funnel

EOL

QID : 239 - In Microsoft Excel, the () function is used to count the number of cells that contain numbers within the list of arguments.

ATSHITFE Tl & () eteT T 3TN 3T Hell T T&AT T ATt et & fow famam S & Toreted qent dr i & & ot dea gielt 81

Options:
1) COUNTIF

2) COUNT
3) SUMCOUNT

4) COUNTSUM
Correct Answer: COUNT
Candidate Answer: COUNTIF

QID : 240 - Fabric made from does not get wrinkled easily.

H I FHUs H 3T 8 Head 7@ g5l
Options:
1) Cotton
Easies)
2) Flax
gy
3) Silk
Xer
4) Polyester
gifereeex

Correct Answer: Polyester
Candidate Answer: Silk

_H

QID : 241 - What is formed when Carbon Dioxide is passed through Lime Water?

S ST STSHTFHSS &I ol & Tlell 3 YaTfed T ST § dF 4T JfdT 572
Options:

1) Copper Sulphate

FIT Hehe

2) Calcium Carbonate

STz FrEfac

3) Magnesium Oxide

HefRrge itFares

4) Baking Soda

SfeheT ST

Correct Answer: Calcium Carbonate

FogaH Frefac

Candidate Answer: Calcium Carbonate

Fioaas FEfae
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QID : 242 - The salt concentration (measured as salinity in parts per thousand), is greater than

FAGOT T WicT (Y §AR 197 7 ST & & #H A =), Hfreavig ot 7 % ¥ 37 g &

Options:
1) 50

2) 100
3) 150

4) 200
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

% in hypersaline lagoons.

QID: 243 - scheme launched by the Central Government aims to cover all those children by 2020 who are either unvaccinated, or are partially

vaccinated against seven vaccine preventable diseases.

e TN ST YE AT I NSl ot 322 a¥ 2020 T 3o7 Foll Sl 1 it eer & foieg &b 181 o1t § 1 foiegy Erept & et oY ST Feot ATl AT

SRt & &k 31w T @ o §

Options:

1) Deen Dayal Upadhyaya Grameen Kaushalya Yojana
EiTeTel IUTEATY ATHIOT e JSTaT

2) Deendayal Upadhyaya Gram Jyoti Yojana
ErTeTel IUTEIT ATH SATY ST

3) Mahatma Gandhi Pravasi Suraksha Yojana
HETCHT T FaT GRET Fretal

4) Indradanush Scheme

SrE Y ISt

Correct Answer: Indradanush Scheme
EEAEARIED]

Candidate Answer: Indradanush Scheme

EQAGARIED])
QID : 244 - Who discovered Penicillin?

gfafafers 1 @rer fraer &ir?

Options:

1) Edward Jenner

TEaTE Sk

2) Niels Bohr

Areq SR

3) Sir Alexander Fleming

4) Heinrich Hertz

gRT g

Correct Answer: Sir Alexander Fleming
Candidate Answer: Sir Alexander Fleming

QID : 245 - Who has won the most number of Gold Medals in Olympics?

3T 7 fhee aew 31fde Taol ugs Sia &2
Options:

1) Usain Bolt

38 dee

2) Katie Ledecky

ETaRCELD)

3) Michael Phelps

ASH el

4) Chen Long

AT ST

Correct Answer: Michael Phelps
ASH e

Candidate Answer: Michael Phelps
HATSH Hood
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QID : 246 - Gol Gumbaz was built in which century?

AT [T o ET & AT 9747 AUT?
Options:

1) 15th

15dF

2) 16th

16 dF

3) 17th

17 &t

4) 18th

18 &t

Correct Answer: 17th
17 &t

Candidate Answer: 15th
15dF

QID : 247 - Which of the following was the winner of the Grammy Awards 2016 "Album of the Year"?

frefaf@a 7 & 9 TERR 2016 T T "TeaH T & A" oI Hiet @T AT?
Options:

1) Sound & Color

|33 US FHek

2) 2050

2050

3) 1989

1989

4) Beauty Behind the Madness

781 98133 & Asad

Correct Answer: 1989

1989

Candidate Answer: Beauty Behind the Madness

21 95T$s & Hsad

QID : 248 - Which of the statements given below are correct?

1. The author of the novel 'Atonement' is Ian McEwan.
2. The author of the novel 'The Sound and the Fury' is L. Ron Hubbard.
3. The author of the novel 'White Teeth' is Zadie Smith.

Y R T e & ¥ BT FuT T

1. 3YTIE "TSITHE" & @ s HehuarT &
2. 3YITE "E W38 US & B & oI@eh Uel. Ued gealls ¢
3. 39T "S@TEC Y & oI oy Ay g
Options:

1)1and 2

13Rk2

2)2and 3

23R 3

3)1land 3

13R3

4)1,2and 3

1,23R3

Correct Answer: 1 and 3

133
Candidate Answer: [ NOT ANSWERED ]

QID : 249 - Sodimejo, the world's ‘oldest man' died at the age of 146. Which country was he from?

FIEAS, i & Fa@ et e FT 146 a9 H 3G # T 81 AT d5 FHlet T G2 T ALTRE AT?
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Options:

1) India
AR

2) Pakistan
qrferede

3) Indonesia
EEoIRu)

4) Croatia
wrefm

Correct Answer: Indonesia
ECCIND)
Candidate Answer: Croatia

EQlRD

QID : 250 - Who is the present Secretary General of SAARC?

THUUIRHT o TAHATT ATAIT hieT &7
Options:

1) Tajuddin Ahmed

A 3

2) Mujibur Rehman

N T

3) Muhammad Mansur Ali
HIEFAE FHIT 376

4) Mr. Amjad Hussain B. Sial

AY 31STE g8t ot e

Correct Answer: Mr. Amjad Hussain B. Sial
AY 31FeTe; g ot e

Candidate Answer: [ NOT ANSWERED ]

QID : 251 - What is the LCM of 120 and 450?

120 31K 450 & A FHTITS FT 82

Options:
1) 2400

2) 1800
3) 3600

4) 4800
Correct Answer: 1800
Candidate Answer: 1800

QID: 252 - A, B and C can do a job working alone in 6, 9 and 18 days respectively. They all work together for 1 day, then A and B quit. How many days C working
alone will take to complete the remainder of the job?

A, B 3iR C shaer: 6, 9 3R 18 f&AT 7 31hel Ush 1o ol T Teho B aammlﬁsra:ﬁvmm%,ﬁﬂAaﬁTBmmaﬁ%lmmaﬂﬁgucﬁaTqm
& O e F fheiel & weier?

Options:

1)9

2)6

3)12

4) 10

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - What is the diameter (in cm) of a sphere of surface area 6.16 sq cm?

6.16 T3 H.7. TG & glet aTel et T AT (WY 7) Fa7 §?
Options:

1) 1.4

2)0.7

3)2.8

4)2.1

Correct Answer: 1.4

Candidate Answer: [ NOT ANSWERED ]
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QID : 254 - The discount offered on a Shirt of Rs 500 and a pair of Trousers of Rs 1000 is 20% and 40% respectively. If Ajay bought 2 Shirt and 3 pair of Trousers
then what was the effective discount ( in %) he recieved?

T 500 ¥ #T 2rE 3R 1000 T 1 va He W HA: 20% 3R 40% T g & Sl §1 A 31r o 2 o€ 3R 3 Frs de @liegar ar 38 st (% ) gerrar o el 82
Options:

1) 30

2) 32

3)25

4) 35

Correct Answer: 35

Candidate Answer: [ NOT ANSWERED ]

QID : 255 - If A's wealth is 4/9 times of B's and C's is 7/6 times of B's, what is the ratio of C's wealth to A's?

3R A T 4T B & &eT & 4/9 (AT 3R C T &7 B & 7/6 T[T &, 0T C & & T A & &aT W T 30T 82

Options:
1) (8:21)

2) (21:8)
3) (27:14)

4) (14:27)
Correct Answer: (21:8)
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - The average of four consecutive odd numbers is 40. What is the largest number?

IR AIMAR fawar Txan3it @1 3itad 40 &1 Remeras dear sl @ 82
Options:

1) 42

2) 45

3)43

4) 44

Correct Answer: 43

Candidate Answer: 43

QID : 257 - If a wholesaler, sells a tin of coffee at Rs 528 he faces a loss of 12%. Now if he decides to sell it at Rs 636, what will be the profit (in %)?

IR T AN SATIRY, 528 T 3 I T T oIl & A 3§ 12% FT FHATT 81l | 3 3R T6 3U 636 TIY T I<et o7 Hhafell XAl §, AV Fhelell o1eT (% ) gram?
Options:

1)7

2)5

3)6

4)4

Correct Answer: 6

Candidate Answer: 6

QID : 258 - A man wills 40% of his wealth to his wife and rest to his children. What percent of the wealth willed to the wife do the children get?

Ueh T 3191 Hafed T 40% 39 Teail &Y 31T A9 39y seal &l &aT &1 <l & 9 Yool &l fET &eT &l fohcalr wiaerd &2
Options:

1) 150

2) 66.6

3)50

4) 20

Correct Answer: 150

Candidate Answer: 66.6

QID : 259 - If a person walks at 12 km/hr instead of 10 km/hr, he would have walked 1 km more in the same time. What is the actual distance (in kms) travelled by
him at 10 km/hr in the same time?

3PR FI5 cTfFd 10 AT / €T & s 12 6.#T/ ger Fr 1 § IodT 8, a7 98 38T T79 7 1 .7, 3170 I GhdT ¢ 38T AT H 30 aRT aF $I 7S Jediasdh
& 10 R/ et (RF.a. ) & a1fay & forat &2

Options:

1)8

2) 10

3)5

4)12

Correct Answer: 5
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Candidate Answer: 5

QID : 260 - Albert invested an amount of x rupees in a fixed deposit scheme offering 10% per annum for 1st year and 15% per annum for 2nd year and received
an amount of Rs 20,240 after the two years. What is x (in Rs)?

FeTE o Uah AT STAT ArateTr 37 x T T AR &7 1 a9 & e 10% 9fed a9 a3 § 3 q@¥ av & fow 15% iy av & a7 & Faer fomar 31k ar #1er a1e 20,240 % #r
TRy wre 1 x (% ) 47 82

Options:
1) 15000
2) 16000
3) 14000
4) 18000

Correct Answer: 16000
Candidate Answer: 16000

QID : 261 - If 10x/3 + 5/2(2 - x/3) = 7/2, then the value of x is?

JTE 10x/3 + 5/2(2 - x/3) = 7/2, A x I HF 3T §?
Options:

1) 3/5

2) -5/3

3)5/3

4) -3/5
Correct Answer: -3/5
Candidate Answer: -3/5

QID:262-Ifa-b =2andab = 15, then what is the value of a3 - b3?

Ffda-b=23Rab=15% ara’ - b3 sr AT FT §?
Options:

1) 152

2) 112

3) 108

4) 98
Correct Answer: 98
Candidate Answer: 98

QID : 263 - The sum of a fraction and 4 times its reciprocal is 13/3. What is the fraction?

T et 3R 39 o=t & cgoshd & 4 1 &1 AT 13/3 B| a8 et a7 m 82

Options:
1) 4/3
2) 3/4
3)5/4
4) 4/5

Correct Answer: 4/3
Candidate Answer: 4/3

QID : 264 - The 3rd and 8th term of an arithmetic progression are -14 and 1 respectively. What is the 11t term?

TS FHATR A0t T fERT 31 317sdt gg A -14 317 1 &1 11-a7 ug FiaT ar g2

Options:

1) 14

2) 16

3) 20

4) 10

Correct Answer: 10
Candidate Answer: 10

QID : 265 - What is the reflection of the point (5, 3) in the liney = -2?

@iy = -2 & 1§ (5, 3) &1 wiafsia Far §?
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Options:
1)(-9,3)

2)(-5,-7)
3)(9,-3)

4)(5,-7)
Correct Answer: (5, -7)
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - The distance between the points (4, 8) and (k,-4) is 13. What is the value of k?

ﬁ{q(4, 8) 31T (k, -4)3?31?@{&13 &1 k &7 AT FT 82
Options:

1)1

2)3

3)-1

4)-3
Correct Answer: -1
Candidate Answer: [ NOT ANSWERED ]

QID : 267 - What is the equation of the line perpendicular to the line 2x + 3y= -6 and having Y-intercept 3?

2x + 3y = -6 Y&T & fow 31w 3R y-ufdede 3 ge arel X@r & THIHoT 7 737 82

Options:
1)3x-2y=6

2)3x-2y=-6
3)2x-3y=-6

4)2x-3y=6
Correct Answer: 3x - 2y = -6
Candidate Answer: [ NOT ANSWERED ]

QID : 268 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 2:3 and area of AADE is 4 sq cm, what is the area (in sq cm) of
quadrilateral BDEC.

AABC #¥ 81T AB 31 AC R D 3R E faig &1 DE, BC & @#TeTic &1 T AD:DB = 2:3 31 AADE &7 &fathel 4 et #.70. §, o Iyt BDEC T &tthel (F37 H.4. ) a/m §?
Options:

1) 25

2) 21

3)5

4)9

Correct Answer: 21

Candidate Answer: [ NOT ANSWERED ]

QID : 269 - What is the value of Sin 30° - Cosec 45°?

Sin 30° - Cosec 45° T HT FT &7

Options:

1) (2v6 - 1)/V3

2) (1-2V3)2

3) (V2-V3)/V6

4) (1-2v2)/2

Correct Answer: (1 - 2v2)/2
Candidate Answer: (1 - 2v2)/2

QID : 270 - A LMN is right angled at M. If mzN = 45°, what is the length of MN (in cm), if NL = 9v2 cm?

A LMN, M 9T FHRT &1 I msN = 45° §, ar MN & oiers (&8 &) F=ar g, afe NL = 9v2 d.8. &2
Options:

1) 9v2

2) 9/v2

3) 18

4)9

Correct Answer: 9
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Candidate Answer: 18

QID : 271 - If Cos 6 = 35/37 , then what is the value of Cot 6?

7 Cos © = 35/37, ar Cot 6 T HIH T &7?

Options:
1) 12/35
2) 35/12
3)37/12
4) 12/37

Correct Answer: 35/12
Candidate Answer: 35/12

QID: 272 -
Which Department has the second highest number of employees?

ToRar FraTmeT 3 qEY TR TR Fad 31fe Feran §?
Options:

1)E

2)A

3)D

4)F
Correct Answer: E
Candidate Answer: E

QID : 273 -

If 5 employees are transferred from department A to departmment F, then number of employees in department F would be between those of which two
departments?

IfE 5 weraiat Y [emer A & 39T F & TenaiaRa frar se, af [ermer F # st fr gwar e o [Remert fr g & #eg gefe
Options:

1)Band C

B3R C

2)Aand E

AIRE

3)Band D

B3R D

4)Cand E

C3RE

Correct Answer: B and C

B3R C

Candidate Answer: C and E
C3RE
QID: 274 -

If departments F and D are merged to create a new department G, then which department will have the least number of employees?

gfe fqsmman F 31 D &Y Uah 37 f3T G sa7et & fow faera fnam S1rar 8, Y 998 S Faany e fsmr & g

Options:
1)G

2)F
3)D

4)B
Correct Answer: B
Candidate Answer: B

QID : 275 -
If the average salary of these employees is Rs 8,000, then how much was the company's expense (in Rs. Lakhs) towards salaries?

T o7 et #1 3T 3= 8,000 ¥ &, Y I o Ufy =T &1 T (@l & &) fhcam gram?
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Options:
1) 4.86
2)5.12
3)3.24
4)5.88

Correct Answer: 5.12
Candidate Answer: 5.12

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Freedom fighters laboured (1)/ to the good of (2)/the poor enslaved masses.(3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Father was upset (1)/when he found that (2)/you are not there.(3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

To ensure a reply, please include all pertinent details in your email.
Options:

1) prompt

2) efficient

3) tardy

4) strange

Correct Answer: prompt
Candidate Answer: efficient

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The survey provided the company with a wide of feedback on its products.
Options:

1) spectrum

2) option

3) choices

4) colours

Correct Answer: spectrum
Candidate Answer: spectrum

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ravage
Options:

1) Surrender
2) Construct
3) Damage
4) Liberate

Correct Answer: Damage
Candidate Answer: Damage

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ravish
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Options:
1) Repulse
2) Enthrall
3) Offend
4) Depress

Correct Answer: Enthrall
Candidate Answer: [ NOT ANSWERED ]

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rebate

Options:

1) Deduction
2) Bonus

3) Increase
4) Remission

Correct Answer: Increase
Candidate Answer: Deduction

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Rebuke

Options:

1) Admonition
2) Censure

3) Scold

4) Flattery

Correct Answer: Flattery
Candidate Answer: Flattery

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Achilles’ heel

Options:

1) A fatal weakness in spite of overall strength.

2) A secret weapon to be used as a last resort.

3) A past deed which one is trying to hide.

4) The person who is blamed if anything goes wrong.

Correct Answer: A fatal weakness in spite of overall strength.
Candidate Answer: A past deed which one is trying to hide.

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Beat around the bush

Options:

1) To treat a topic, but omit its main points, often intentionally.
2) Talk bad about a person, often in the absence of that person.
3) Spend a fun jovial time.

4) It is wise to ignore hardships and continue with your task.

Correct Answer: To treat a topic, but omit its main points, often intentionally.
Candidate Answer: To treat a topic, but omit its main points, often intentionally.

QID : 286 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

As long as we are in this historical city let us spend our time (doing sightseeing).
Options:

1) to sightsee

2) sightsee

3) sightseeing

4) no improvement

Correct Answer: sightseeing

Candidate Answer: to sightsee

QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

He proposed (meets) me at the temple.
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Options:

1) for meeting

2) to meet

3) meeting with

4) no improvement
Correct Answer: to meet

Candidate Answer: to meet

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

Irritating inconvenience
Options:

1) Tranquillity

2) Hassle

3) Harmony

4) Rectitude

Correct Answer: Hassle

Candidate Answer: Hassle

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A punishment imposed for breaking a law, rule, or contract.
Options:

1) Penalty

2) Reprieve

3) Grace

4) Amnesty

Correct Answer: Penalty

Candidate Answer: Penalty

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) atrocias

2) atrocious

3) atroceous

4) atroacious

Correct Answer: atrocious

Candidate Answer: atrocious

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) curvacias

2) curvaceous

3) curvaceuse

4) curveaceous

Correct Answer: curvaceous
Candidate Answer: curvaceous

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Now I just have to keep my

X-place and not let that scrawny
Y-guy with gelled

Z-hair edge in front of me
Options:

1) YzX

2) XYZ

3) ZXY

4) XzY

Correct Answer: XYZ
Candidate Answer: ZXY

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The idea of a standard time
X-lives that we often take it for

Y-zone has become so integral to our
Z-granted and assume it to be a part of natural phenomena
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Options:

1) ZYX

2) XYZ

3) YZX

4) YXZ

Correct Answer: YXZ
Candidate Answer: YXZ

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Varun ate six rotis at dinner.

Options:

1) At dinner, six rotis was ate by Varun.

2) At dinner, six rotis were eaten by Varun.
3) At dinner, Varun had eaten six rotis.

4) At dinner, had Varun eaten six rotis.

Correct Answer: At dinner, six rotis were eaten by Varun.
Candidate Answer: At dinner, six rotis were eaten by Varun.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

"What is your name?" she asked him.
Options:

1) She asked him what his name is.

2) She asked him what his name has been.
3) She asked him what is his name.

4) She asked him what his name was.

Correct Answer: She asked him what his name was.
Candidate Answer: She asked him what his name was.

QID : 296 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident
with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care

physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses
and conditions arising from alcohol and substance .

the base of psychiatrists is low in relation to the need
Options:
1) Since
2) Why
3) As soon as
4) Where

Correct Answer: Since
Candidate Answer: Where

QID : 297 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident
with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care

physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses
and conditions arising from alcohol and substance .

many of them are not confident with their training
Options:

1) lot

2) enough

3) very

4) much

Correct Answer: enough

Candidate Answer: enough
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QID : 298 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses

and conditions arising from alcohol and substance

a concerted effort, primary care physicians can be trained
Options:
1) To
2) For
3) But
4) With
Correct Answer: With
Candidate Answer: With

QID : 299 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses

and conditions arising from alcohol and substance

severe problems, from anxiety disorders to depression
Options:

1) ranging

2) coming

3) distancing

4) longing

Correct Answer: ranging

Candidate Answer: distancing

QID : 300 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Raising effective primary and district-level coverage of mental health services for the general population, without requiring people to travel long

distances to see a specialist and get medicines, should be a priority. the base of psychiatrists is low in relation to the need,
the use of trained general practitioners as the first line of contact assumes importance. Some studies show many of them are not confident

with their training to detect, diagnose and manage mental illnesses. a concerted effort, primary care
physicians can be trained to help people with mild and severe problems, from anxiety disorders to depression, psychoses

and conditions arising from alcohol and substance

psychoses and conditions arising from alcohol and substance
Options:

1) abuse

2) eating

3) sale

4) withdrawal

Correct Answer: abuse
Candidate Answer: abuse
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